TEHEBLERXR (1/3)
TH% THMEE Kb RLAREE BEEETS e
THERS - T - 183 P 81 B T B éfiﬂ%& rENE| RER] @
B .
St T "
IEEUIEIT "
w LEUEI 6 emA T n
Bl (4000 LLF) BRETUDITIEEHY m?2 2, 240
BNy (BmtnEn DI DXRE#%AL 12.0ka«1‘"|< m3 112
2043 AstTHI AT EAKORIE MATER t 264
F—nN—LA =
AT~ —RETE
=E (FEE - BB BRI EAs20F m?2 2, 240
E &bem
R E#ERET =+
1230cm £ &bmm
AR B#EZET 0y —IISSTF—F m 594
A4




T E % =

w R (2/3)

Nl=p i=a ~ NI s %%Z/\
TE% THIEE WA bV ALERER SEEETE S22
THERS - T7E - 183 e 81 B T B %fiﬂ%& rENE| RER] @
XE#HFT =+
XIE#ET =+
L SEAT 4 ME
A hARER 300m HE PR m 094
R4 REES fgfﬁﬁ%ﬁ;ﬂ m 704
~A v R RRER e R m 609
ESIES
AR RS 5E - 28 %E m 133
15cmiaE
BEAE e e =S i
& T "
EBRST -
SEEET -
SBFEEHAA s A B 4




TEHERKRFEXR (3/3)

Ta#% FH2OEE A b RLEEEE WEEETE B2
TERY - T - 3 @ I S gy (F2 R rmnsluawn ®
SAFEEHEED e ) A B 16

Eme .

E ﬁ
Eme .
EEDETEER
R ALERY (&) e
L =7. 2km
(B BE
EMEB RS0 & 7. 2km (X E48) B (B) #0kn & -
K3E0km REEFHIAERE
S EEE .
B EEE .
S EEE .
BT A O LIRS Wik 1




EH20FEE BAM RIILEHER SHEBeEIE
ST  YEIA—/A—LAI L=594m W=3. 0~6.5m A=2, 240m EEI t=5cm

v

A

@ L=1100m W=6.5m A=715.0m @ L=240m W=40m A=96.0m 5 @ L=460.0m W=3.0~4.1m A=1486. 1m o
B4R £>5—110[0m BI220.0m [ 95220 0m EE BN RE R E54.0m BI#24.0m F9h24.0m 5 443-91 AR il RE#R £9—460.0m {f1#R460.0m }yp365.0m <v-954 g

[ Ryh§ L=365.0m |

%-IIZ%I%_%E‘HE HEmMEHE _
- - X =
;Ba ) @ ® 3 s P @ [110.0x6.5 715.0[m
i 1100 240] 460.0] 594.0]m @) 240X 40= 96.0[m
m 1B 715.0] 96.0] 1,436.1] 2,247.1|m EREWE 2.247.1m X 0.05m = 112.4 m3 ® [460.0x 3.0+ (82.0+20.0) x 1/2Xx1.1= 1,436.1|m
RE# (Eetvs-)| 1100 240 4600 594.0/m A5y 112.4m3%x 235t = 2610 t it 22471|m
X fz (AlER) 2200] 240] 460.0[ 704.0[m B th#t 594.0 m
XE#R FyME) | 2200] 240] 365.0] 609.0/m REHEEZEEX(AeHE) —HK
RES (51737 1) 14.4 14.4]m
RE# (< E5HF) 720 720 (444
R B GEERHIXF) 46.9 46.9 )
EEEER
7.50

3.00 e 3.00 >

X K K

FR29EERARL RILEFIER
I % 4% HEEREISE

REBI 5cm

EBEI 5cm

H A T - R EE R E R

EREBH TERi29% 9H

& R |S=NON |HE&=1 /1

EXER EHFREBR A4




